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QUESTION 1

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

 

QUESTION 2

Read the passage attached. 

"From early in their educational careers, students in the United States are encouraged to attend college and are
indoctrinated with the idea that a college education will open an increased number of doors in their future and allow
them access to higher paying jobs that will result in an increased quality of life. However, today\\'s college graduates
find themselves heading out to the workforce saddled with tremendous debt from student loans taken out to pay for that
college dream. Many of them find that those high-paying jobs they were promised are difficult to find as new graduates
and the salaries they earn as they start their careers are barely enough to make ends meet, never mind making
meaningful headway in paying off their student loans. As the cost of college continues to rise, so too does the student
loan debt looming over new graduates. The college dream becomes a repayment nightmare for far too many highly
educated young people." 

A student is writing an argumentative report about the rights of students to have free education through college. The
attached passage is from a source she\\'d like to use. The student also wrote down some claims to use in her report.
Which of these claims is best supported by the information in the attached source? 

A. One in three college graduates cannot find full-time employment upon graduation. 

B. Students have access to a variety of scholarship opportunities that may help alleviate some of the burden of
borrowing money to pay for college expenses. 
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C. The threat of skyrocketing debt may change some students\\' minds about the value of attending college. 

D. Tuition is only one of many expenses college students must pay for. 

Correct Answer: C 

 

QUESTION 3

A student is writing an informational essay about the impact of global warming on polar bears in the Arctic. 

As climate change and the effects of global warming are felt worldwide, scientists have determined that polar bears in
the Arctic are just one of the many species facing extinction from our rapidly warming planet. As the ocean waters
warm, the main food source for the bears is disappearing. Shortages of food are literally causing these creatures to die
of starvation. 

Whereas bears could previously walk out onto the sea ice and wait for a seal to poke its snout through, shrinking sea ice
means the bears must now walk or swim much farther than they did before to find food. These longer migrations to find
food are taking their toll on the bear population. 

Seals are a polar bear\\'s main source of protein. They are also another victim of global warming. With the sea ice
melting earlier in the warmer springtime and forming later in the warmer winters, seals struggle with finding a safe place
to raise their pups. As a result, their numbers are starting to drop, meaning they are also no longer a plentiful food
source for the bears 

Read the attached passage and then answer this question about it. Choose the transition sentence that would improve
the links between the first and the second paragraph. 

A. Polar bears are not the only ones having a difficult time finding food. 

B. There are many reasons why the polar bears are starving. 

C. Polar bears are having a difficult time finding food. 

D. Scientists suggest that climate change is a result of the Earth\\'s natural cycle of heating exacerbated by man-made
causes. 

Correct Answer: A 

 

QUESTION 4

Which of these expressions is a factor of 8x3 - 125? 

A. Option A 
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B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 

 

 

QUESTION 5

Which set of symbols and numbers completes the equation of a circle whose center is shifted 3 units to the left and 2
units upward from the origin and has a radius of 4 units? 

(x_3)2 + (y - _)2 = _ 

A. +, 2, 16 

B. -, 3, 4 

C. +, 9, 16 

D. -, 4, 9 

Correct Answer: A 
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